PROGRAM: 15600	
SUBJECT : Vehicle Upfitting Contract	
Background:	() <u>ACTION REQUESTED</u> :
The County issued a Request for Proposals for vehicle upfitting services. Four proposals were received before the RFP deadline:	Approve award of contract to Elite Upfitters in the amount of \$208,048.32.
Elite Upfitters - \$208,048.32 Vehicle Lighting Solutions - \$212,111.21 Performance & Repair Specialties - \$226,270.00 Financial Consultants Intl. Inc \$235,554.00	
The recommendation is to award to the lowest proposer.	
ATTACHMENTS: Proposal Summary; Proposals	
Date: () Submitted By: (Josh Roberts)	
*******For Interna	al Use Only*********
Checkoffs: () Exec. Asst. () Dept. Head (copy) () Human Resources (copy) () Budget (copy)	To be notified of Meeting: Undersheriff Jim Littlefield Captain Paul Wolverton Lieutenant Josh Roberts
() Fiscal () Legal (copy) () (Other - List:)	Needed at Meeting: Captain Paul Wolverton Lieutenant Josh Roberts
*************	******
Scheduled for meeting on: June 4, 2025	
Action taken:	
**************************************	*******

AGENDA ITEM FOR ADMINISTRATIVE MEETING

FROM (DEPT/ DIVISION): UCSO/Criminal

() Discussion only() Action

Compar	ny Name	#	Vehicle Breakdown	Cos		To Co Bio	mbined	Anticipated start date	Anticipated completion date
#1	Elite Upfitters		4 2025 Dodge Durango	\$	23,745.82	\$	94,983.28	6 weeks from	1 vehicle per week = 8
	Blue Mountain Manufacturing	5	3 2025 Ford Expedition	\$	29,136.17	\$	87,408.51	order date	weeks
	Heppner OR		1 2025 Ford F-350	\$	25,656.53	\$	25,656.53		
	Payment terms - payment for parts due upon receipt of parts, labor due upon completion of each vehicle			-		\$	208,048.32		to be completed within 120 days (17 weeks)
#2	Vehicle Lighting Solutions		4 2025 Dodge Durango	\$	25,920.44	\$	103,681.76	8-9 weeks	
	Sandy UT	-	3 2025 Ford Expedition	\$	27,094.31	\$	81,282.93		1 vehicle per week = 8
			1 2025 Ford F-350	\$	27,146.52	\$	27,146.52		weeks
	Terms - Net 30	-		_		\$	212,111.21		Total = 16-17 weeks
#3	Performance and Repair Specialties	П	4 2025 Dodge Durango	\$	27,453.00	\$			Total = 10-17 WEEKS
	Prineville OR	1	3 2025 Ford Expedition	— š	28,052.00	Ι.	84,156.00		
		-	1 2025 Ford F-350	_ \$	32,302.00	Ι.	32,302.00		
		-			,				150-180 days 21-26 weeks
	Payment for parts paid in full prior to ordering, labor and misc costs billed separately at completion of each vehicle	ı				\$	226,270.00		
#4	Financial Consultants International, Inc.		4 2025 Dodge Durango			Τ		8-10 weeks	
	126		3 2025 Ford Expedition			l			10 weeks
		_	1 2025 Ford F-350						
		-		_					18-20 weeks
	Terms not stated	-				\$	235,554_00		
Notes	Substitutions for specifics parts are leasted on each bid.							•	

Elite Upfitters

PO Box 452 54182 Highway 74 Heppner, OR 97836 541-676-5472

Umatilla County Sheriff's Office Attn: Lieutenant Josh Roberts 4700 NW Pioneer Place Pendleton, OR 97801 May 14, 2025

RE: Proposal for Vehicle Upfitting and Fabrication Services

To Whom It May Concern:

Please find enclosed proposals for the following vehicles:

- -2025 Dodge Durango Pursuit Vehicle
- -2025 Ford Expedition SSV Vehicle
- -2025 Ford F-350 XL Crew Cab Pickup

These Vehicles are quoted to Specifications provided by the Umatilla County Sheriff's Office.

Estimate is valid for 120 days from the date of this proposal.

Lead time for parts delivery is 6 weeks from time of order. Vehicles are expected to be completed in one week intervals from time of parts delivery. All vehicles will be completed within 120 days of bid acceptance.

Payment terms are Due on Receipt with payment for parts being due when they arrive and payment for Upfitting Labor due upon completion of each vehicle.

Sincerely,

Eric Chick Elite Upfitters



2025 Ford Expedition

Blue Mountain Manufacturing 54182 Hwy 74 P.O. Box 452 Heppner 97836 United States

> Umatilla County Sheriff Office 4700 NW Pioneer PL Pendleton OR 97801 United States

Quotation # SO10023

Quotation Date:

Expiration:

Salesperson:

05/06/2025

05/20/2025

Darcie

Description	Quantity	Unit Price	Taxes Amount
2025 Ford Expedition SSV 4WD			
Liberty II Duo WCX 48" D/E/D/E	1.00 Units	2,644.8000	\$ 2,644.80
ADJ Lightbar Mount Kit #85	1.00 Units	0.0000	\$ 0.00
Mini ION T-SERIES LT RED/BLUE	4.00 Units	112.8120	\$ 451.25
Duo Linear Ion Red/Blue	4.00 Units	147.0840	\$ 588.34
Ion T-Series Red/White, Blue/White	4.00 Units	160.7900	\$ 643.16
Tracer Side Running Light Red/Blue	1.00 Units	1,614.4800	\$ 1,614.48
21 Button Control Head	1.00 Units	859.8800	\$ 859.88
Amplifier Control Module	1.00 Units	0.0000	\$ 0.00
Whelen Expansion Module	1.00 Units	208.4880	\$ 208.49
OBDII CANPort Installation Kit 25 Expedition OBDII CANPort Installation Kit	1.00 Units	255.3300	\$ 255.33
Whelen Howler LF Siren With 1 Speaker	1.00 Units	539.7840	\$ 539.78
Siren Speaker - Whelen	1.00 Units	256.8000	\$ 256.80
Center Siren Speaker Mount	1.00 Units	36.4080	\$ 36.41
Whelen Arges Control Panel	1.00 Units	251.3280	\$ 251.33
Whelen Arges Flood Light	1.00 Units	1.4280	\$ 1.43
Whelen Spotlight Mounting Bracket	1.00 Units	35.7420	\$ 35.74

ĺ.	1		1	
	To de	2		
<u></u>	l	_	10	

Blue Mountain Manufacturing			
54182 Hwy 74			
P.O. Box 452 Heppner 97836			
United States Whelen Cencom Console Plate	1.00 Units	34.0170	\$ 34.02
Tait TM9155 Console Plate	2.00 Units	34.0170	\$ 68.03
Low Profile Fin Antenna with Radio Cable Kit	2.00 Units	198.8000	\$ 397.60
Radio Cable	2.00 Units	19.2800	\$ 38.56
Radio Antenna	2.00 Units	13.8500	\$ 27.70
Flat Havis Console 25 Expedition	1.00 Units	993.1700	\$ 993.17
USB Dual Port Charger	1.00 Units	95.6340	\$ 95.63
Internal Cup Holders	1.00 Units	64.7220	\$ 64.72
Motorola Watchguard Mount	1.00 Units	31.8780	\$ 31.88
1-1/2" Filler plate	1.00 Units	12.5580	\$ 12.56
Mic Clip Bracket	3.00 Units	18.3540	\$ 55.06
Magnetic Mic	3.00 Units	47.7000	\$ 143.10
8.5" Heavy Duty Telescoping Pole	1.00 Units	183.5400	\$ 183.54
Tilt/Swivel/Slide Motion adapter	1.00 Units	354.5300	\$ 354.53
HD Stability Side Support Arm	1.00 Units	76.3140	\$ 76.31
Universal Computer Dock	1.00 Units	326.5080	\$ 326.51
Streamlight Stinger DS LED Flashlight	1.00 Units	194.0800	\$ 194.08
Cell Phone Booster	1.00 Units	750.0000	\$ 750.00
Horizontal Gun Mount	1.00 Units	284.7385	\$ 284.74
SUBSTITUTE TO SETINA	1.00 Units	1,088.1000	\$ 1,088.10
2025 Ford Expedition Transport Cage, Dual Partition	1.00 Units	1,873.7500	\$ 1,873.75
CargoRaxx (S3E) Organizer System	1.00 Units	628.9900	\$ 628.99
CargoRaxx Electronics Box	1.00 Units	800.3600	\$ 800.36
CargoRaxx Weapon Drawer	1.00 Units	780.1900	\$ 780.19
Circuit Breaker	1.00 Units	30.7800	\$ 30.78
Fuse Block	1.00 Units	40.8600	\$ 40.86
Disconnect Timer	1.00 Units	133.8300	\$ 133.83
Shop Supplies	1.00 Units	150.0000	\$ 150.00



Blue Mountain Manufacturing 54182 Hwy 74 P.O. Box 452

Heppner 97836

United States Upfitting Installation

60.00 Hours

95.0000

\$ 5,700.00

Total

\$ 23,745.82



Blue Mountain Manufacturing 54182 Hwy 74 P.O. Box 452 Heppner 97836 United States

> Umatilla County Sheriff Office 4700 NW Pioneer PL Pendleton OR 97801 United States

Quotation # SO10026

Quotation Date:

Expiration:

Salesperson:

05/07/2025

05/21/2025

Candy

Description	Quantity	Unit Price	Taxes	Amount
Whelen Slim-Miser Red/Blue/White Windshield Mounted	1.00 Units	1,214.2100		\$ 1,214.21
Ion T Series Super LED Red/Blue	8.00 Units	140.6200		\$ 1,124.96
Duo Linear Ion Red/Blue	2.00 Units	147.0840		\$ 294.17
Whelen Arges 2 Remote Spotlight	1.00 Units	678.5300		\$ 678.53
21 Button Control Head	1.00 Units	859.8800		\$ 859.88
Whelen Expansion Module	1.00 Units	208.4880		\$ 208.49
Siren Speaker - Whelen	1.00 Units	256.8000		\$ 256.80
Whelen Howler LF Siren With 1 Speaker	1.00 Units	539.7840		\$ 539.78
Flat Havis Console 25 F-350	1.00 Units	874.8200		\$ 874.82
Tait TM9400 Console Plate	2.00 Units	44.4000		\$ 88.80
Havis Docking Station for Panasonic Toughbook Model #FZ-40	1.00 Units	1,558.7700		\$ 1,558.77
USB Dual Port Charger	1.00 Units	95.6340		\$ 95.63
2 Place Cup Holder	1.00 Units	61.3410		\$ 61.34
Horizontal Gun Mount	1.00 Units	284.7385		\$ 284.74
2025 Ford F350 XL (half cage) Transport Cage	1.00 Units	1,443.4400		\$ 1,443.44
Cell Phone Booster	1.00 Units	750.0000		\$ 750.00
Streamlight Stinger DS LED Flashlight	1.00 Units	194.0800		\$ 194.08
Solid State Tail Light Flasher	1.00 Units	243.0800		\$ 243.08

	4	SA.	
J.	1	1/1	
7	K.	37	

Blue Mountain Manufacturing				
54182 Hwy 74				
P.O. Box 452				
Heppner 97836				
United States 2025 Ford F-350 Red Goat Bumper-Winch Ready		1.00 Units	2,076.0000	\$ 2,076.00
Warn XP 12-S Winch		1.00 Units	3,059.9900	\$ 3,059.99
20" Black Oak Double Row LED Lightbar		1.00 Units	580.0000	\$ 580.00
2" Black Oak LED Pod Light Flood Beams		2.00 Units	109.0000	\$ 218.00
2" Black Oak LED Yellow Fog Light		2.00 Units	109.0000	\$ 218.00
2" Black Oak Flush Mount LED Lights		2.00 Units	150.0000	\$ 300.00
Leer Legend Truck Cap		1.00 Units	4,177.2000	\$ 4,177.20
Decked Drawers 2025 Ford F350		1.00 Units	1,679.9900	\$ 1,679.99
Circuit Breaker		1.00 Units	30.7800	\$ 30.78
Fuse Block		1.00 Units	40.8600	\$ 40.86
Disconnect Timer		1.00 Units	133.8300	\$ 133.83
Miscellaneous		1.00 Units	150.0000	\$ 150.00
Upfitting Installation		60.00 Hours	95.0000	\$ 5,700.00
	Total			\$ 29,136.17

2025 Ford F-350 XL 4W Crew Cab Pickup



2025 Dodge Durango

Blue Mountain Manufacturing 54182 Hwy 74 P.O. Box 452 Heppner 97836 United States

> Umatilla County Sheriff Office 4700 NW Pioneer PL Pendleton OR 97801 United States

Quotation # SO10009

Quotation Date:

Expiration:

Salesperson:

04/01/2025

04/15/2025

Darcie

Description	Quantity	Unit Price	Taxes Amount
Liberty II Duo WCX 48" D/E/D/E	1.00 Units	2,644.8000	\$ 2,644.80
ADJ Lightbar Mount Kit #85	1.00 Units	0.0000	\$ 0.00
Mini ION T-SERIES LT RED/BLUE	4.00 Units	112.8120	\$ 451.25
Duo Linear Ion Red/Blue	8.00 Units	147.0840	\$ 1,176.67
Tracer Side Running Light Red/Blue	1.00 Units	985.3200	\$ 985.32
Durango Running Board Mounting Kit	1.00 Units	39.2640	\$ 39.26
21 Button Control Head	1.00 Units	859.8800	\$ 859.88
Amplifier Control Module	1.00 Units	0.0000	\$ 0.00
Siren Speaker - Whelen	1.00 Units	256.8000	\$ 256.80
Center Siren Speaker Mount	1.00 Units	36.4080	\$ 36.41
Siren Amplifier - One Speaker	1.00 Units	539.7840	\$ 539.78
Whelen Expansion Module	2.00 Units	208.4880	\$ 416.98
OBDII CANPort Installation Kit	1.00 Units	255.3300	\$ 255.33
Whelen Arges Control Panel	1.00 Units	251.3280	\$ 251.33
Whelen Arges Flood Light	1.00 Units	1.4280	\$ 1.43
Whelen Spotlight Mounting Bracket	1.00 Units	35.7420	\$ 35.74
Whelen Arges Fender Mount 23 Durango	1.00 Units	579.6000	\$ 579.60
23" Flat Console Body 23 Durango	1.00 Units	556.3884	\$ 556.39

eric@millerforks.com



Blue Mountain Manufacturing			
54182 Hwy 74			
P.O. Box 452 Heppner 97836			
United States Whelen Cencom Console Plate	1.00 Units	34.0170	\$ 34.02
Tait TM9155 Console Plate	2.00 Units	34.0170	\$ 68.03
USB Dual Port Charger	1.00 Units	95.6340	\$ 95.63
Internal Cup Holders	1.00 Units	64.7220	\$ 64.72
Motorola Watchguard Mount	1.00 Units	31.8780	\$ 31.88
1-1/2" Filler plate	1.00 Units	12.5580	\$ 12.56
Mic Clip Bracket	3.00 Units	18.3540	\$ 55.06
Magnetic Mic	3.00 Units	47.7000	\$ 143.10
Dodge Durango HD Computer Mount	1.00 Units	174.8460	\$ 174.85
8.5" Heavy Duty Telescoping Pole	1.00 Units	183.5400	\$ 183.54
Tilt/Swivel/Slide Motion adapter	1.00 Units	354.5300	\$ 354.53
HD Stability Side Support Arm	1.00 Units	76.3140	\$ 76.31
Universal Computer Dock	1.00 Units	326.5080	\$ 326.51
Front Partition 23 Durango W/ Poly Screen	1.00 Units	1,048.4100	\$ 1,048.41
Window Barrier Steel 23 Durango	1.00 Units	325.7100	\$ 325.71
Door Panel 23 Durango	1.00 Units	325.7100	\$ 325.71
Transport Seating/Rear Partition combo 23 Durango	1.00 Units	1,632.5100	\$ 1,632.51
Setina Front Bumper 23 Durango	1.00 Units	533.6100	\$ 533.61
Setina Headlight Guard 23 Durango	1.00 Units	919.7100	\$ 919.71
Streamlight Stinger DS LED Flashlight	1.00 Units	194.0800	\$ 194.08
Horizontal Gun Mount	1.00 Units	284.7385	\$ 284.74
Cell Phone Booster	1.00 Units	750.0000	\$ 750.00
Low Profile Fin Antenna with Radio Cable Kit	2.00 Units	198.8000	\$ 397.60
Radio Antenna	2.00 Units	13.8500	\$ 27.70
Radio Cable	2.00 Units	19.2800	\$ 38.56
Circuit Breaker	1.00 Units	30.7800	\$ 30.78
Fuse Block	1.00 Units	40.8600	\$ 40.86
Disconnect Timer	1.00 Units	133.8300	\$ 133.83

	Α.	
L		
1	- SI	

Blue Mountain Manufacturing			
54182 Hwy 74			
P.O. Box 452			
Heppner 97836			
United States Upfitting Installation	60.00 Hours	95.0000	\$ 5,700.00
CargoRaxx 2025 Dodge Durango	1.00 Units	628.9900	\$ 628.99
CargoRaxx Electronics Box	1.00 Units	800.3600	\$ 800.36
CargoRaxx Weapon Drawer	1.00 Units	780.1900	\$ 780.19
Circuit Breaker	1.00 Units	30.7800	\$ 30.78
Fuse Block	1.00 Units	40.8600	\$ 40.86
Disconnect Timer	1.00 Units	133.8300	\$ 133.83
Miscellaneous	1.00 Units	150.0000	\$ 150.00
	Total		\$ 25,656.53

Performance and Repair Specialties 1883 NW Gardner Road Prineville, OR 97754

Proposal of Work Vehicle Upfitting and Fabrication

Matthew "Kelly" Case kelly@pandrspecialties.om 541-447-8145

Kyler Case kyler@pandrspecialties.com 541-447-8145

Proposal of work for Umatilla County and the installation of specialized police equipment for eight (8) vehicles; four (4) Dodge Durango pursuit vehicles, three (3) Ford Expedition SSV, and one (1) Ford F350.

- 1. 2025 Dodge Durango Pursuit
 - 1x 911 Circuits ch27 Harness and supplies(includes full wiring, fuse box/power distribution, timers). \$1025
 - 1x Whelen 50" Liberty DUO package with CenCom Core Control Package.
 \$4000.00
 - WeCanX Expansion Module \$210
 - o 2x Whelen 4" DUO \$270
 - 2x Whelen U Series TRIO with mount kit \$550
 - Whelen Inner Edge RST RBA \$1075
 - Whelen Tracer WeCanX running lights RBW Kit \$625
 - o 2x Whelen Ion T-Series for License Plate \$250
 - Whelen SA315 Siren Speaker \$200
 - Whelen Howler Amplifier with Speaker \$500
 - Push Bumper- Thunderstruck bumper with rubber pads \$1555
 - Flat Console-Havis with accommodations for light controller, two radio heads, spotlight controller, cup holders, M500 DVR. \$655
 - SUBSTITUTION Side mount computer mount HAVIS Computer mount and swing arm. \$675
 - Substitution Reason- In our experience these mounts are more stable and less likely to encounter issues with hardware loosening/being damaged after prolonged use.
 - Weboost signal booster- Drive Reach \$500
 - Stinger DS LED \$200

- o Whelen Arges 2 Remote Spotlight with mounting kit and controls \$900
- o Roll Bar gun mount- Blac Rac 1082 \$700
- Accessory USB power and 12v socket \$15
- o 3x Magnetic mic mounts \$120
- Tail Light Flasher \$120
- Prisoner Transport system Center sliding window, slotted poly screen, steel window barriers, black plastic door panels, replacement transport seat with center pull seat belts and cargo barrier \$3366
- Cargo organizer system Cargoraxx with electronics box and utility/weapons drawer \$2192
- Antennas and Cables for communication equipment \$250
- Motorola M500 Install- Part of labor
- Tait TM9455 radios-install only
 - Our company does not currently have direct access to this equipment.
 Installation is available, but we would request customer be willing to supply
- Installation Labor \$7000
- o Consolidated Freight Costs \$500
- Total Per Vehicle \$27,453
- Total for Four(4) Vehicles \$109,812

2. 2025 Ford Expedition SSV

- 1x 911 Circuits ch27 Harness and supplies(includes full wiring, fuse box/power distribution, timers). \$1025
- 1x Whelen 50" Liberty DUO package with CenCom Core Control Package.
 \$4000.00
- WeCanX Expansion Module \$210
- o 2x Whelen 4" DUO \$270
- 2x Whelen U Series TRIO with mount kit \$550
- Whelen Inner Edge RST RBA \$1075
- Whelen Tracer WeCanX running lights RBW \$625
- o 2x Whelen Ion T-Series for License Plate \$250
- Whelen SA315 Siren Speaker \$200
- Whelen Howler Amplifier with Speaker \$500
- Push Bumper- Thunderstruck bumper with rubber pads \$1555
- Flat Console-Havis with accommodations for light controller, two radio heads,
 spotlight controller, cup holders, M500 DVR. \$655
- SUBSTITUTION Side mount computer mount HAVIS Computer mount and swing arm. \$675
 - Substitution Reason- In our experience these mounts are more stable and less likely to encounter issues with hardware loosening/being damaged after prolonged use.
- Weboost signal booster- Drive Reach \$500
- Stinger DS LED \$200

- Whelen Arges 2 Remote Spotlight with mounting kit and controls \$900
- o Roll Bar gun mount- Blac Rac 1082 \$700
- Accessory USB power and 12v socket \$15
- o 3x Magnetic mic mounts \$120
- Tail Light Flasher \$1200
- SUBSTITUTION: Prisoner Transport system Center sliding window, slotted poly screen, steel window barriers, black aluminum door panels, rear cargo barrier
 \$2885
 - No currently available replacement rear seat for Ford Expeditions that will match with existing partition systems.
- Cargo organizer system Cargoraxx with electronics box and utility/weapons drawer \$2192
- Antennas and Cables for communication equipment \$250
- Motorola M500 Install- Part of labor
- o Tait TM9455 radios-install only
 - Our company does not currently have direct access to this equipment.
 Installation is available, but we would request customer be willing to supply
- o Installation Labor \$7000
- Consolidated Freight Costs \$500
- o Total Per Vehicle \$28,052
- Total for Three(3) Vehicles \$84,156

3. 2025 Ford F350 XL 4WD Crew Cab w/Standard Equipment

- Slim Miser Red/Blue No tri-color option available at this time \$150
- 1x 911 Circuits ch27 Harness and supplies(includes full wiring, fuse box/power distribution, timers).
- CenCom Core Control Package with CCTL7. \$2600.00
- WeCanX Expansion Module \$210
- o 2x Whelen 4" DUO \$270
- Whelen Tracer WeCanX running lights RBW \$625
- 6x Whelen Ion T-Series for front bumper and rear tailgate \$750
- Whelen SA315 Siren Speaker \$200
- o Whelen Howler \$500
- Red Goat Fabrication Bumper \$1975
 - i. Price shown is with full grill guard. Other options and brands are available on request.
- Warn XP 12-S Winch \$2315
- SUBSTITUTION 20" Single Row LED Light Bar for Front Ironman4x4/GoRhino \$249
 - i. Reason: This slightly slimmer lightbar offers similar output alongside a preferable lens shaping for light dispersion based on our install experience. We have used it for over 12 LEO builds and many others.

- SUBSTITUTION: Cube Lights 3" Amber/Clear flood beams quantity of 2 clear 2 amber - \$420
 - i. Reason: These lights maintain a similar space requirement while allowing additional mount positions, such as flush mounts. The LED diode are housed near the exterior of the assembly, allowing for better cooling and use of preferable lens shape for light dispersion.
- Flat Console-Havis with accommodations for light controller, two radio heads, spotlight controller, cup holders, M500 DVR. \$655
- SUBSTITUTION Side mount computer mount HAVIS Computer mount and swing arm. \$675
 - Substitution Reason- In our experience these mounts are more stable and less likely to encounter issues with hardware loosening/being damaged after prolonged use.
- Havis Docking Station for Panasonic Toughbook Model FZ-40 \$1250
- Weboost signal booster- Drive Reach \$500
- o Stinger DS LED \$200
- Whelen Arges 2 Remote Spotlight with mounting kit and controls \$900
- o Roll Bar gun mount- Blac Rac 1082 \$700
- Setina Single Prisoner Transport Partitions \$1249
- Accessory USB power and 12v socket \$15
- 3x Magnetic mic mounts \$120
- o Tail Light Flasher \$1200
 - i. NOTE: We have access to the Ford PRO upfitter programs. If this vehicle is equipped with the Ford Pro upfitter harness, many of the electrical accessories could be attached to and controlled by the factory vehicle interface. Possibly reducing component load and labor time on this vehicle.
- Decked Cargo System \$1600
- SUBSTITUTION- Vehicle Specific Westin EXP Truck Cap. Full Aluminum body with side flip open windows. \$4199
 - i. The construction style of this truck cap includes a reinforced gull wing door. This brand is also a product we are more familiar with and can better monitor shipping for.
- Antennas and Cables for communication equipment \$250
- Motorola M500 Install- Part of labor
- Tait TM9455 radios-install only
 - Our company does not currently have direct access to this equipment.
 Installation is available, but we would request customer be willing to supply
- Installation Labor \$7000
- Consolidated Freight Costs \$500
- Total Per Vehicle \$32,302

- 4. Estimate of Completion Time. Each vehicle is expected to be complete and functioning within ten(10) to fifteen(15) business days of initial work start. With respect to other existing work and facility space available, the expected timeline of complete work on the eight(8) vehicles proposed would be between 150-180 Calendar days.
 - Timeline Considerations: Many of the requested components are available within approximately 10-15 business days from the time of order. However, some specialty components, such as the wiring harnesses, light controls systems, and partitions have the possibility of taking 20+ days to arrive.
 - Cost Burden Considerations: Performance and Repair Specialties is a small business and as such requests that payment for parts be made in total prior to the ordering of any necessary parts for the upfit. Standard supplies, such as miscellaneous hardware, electrical connectors, assorted shop supplies and Labor costs will be billed separately at the time of completion per vehicle.
 - Facility Limitations: Performance and Repair Specialties has space allowing for the staging and storage of all vehicles outdoors. Specialized tuning and programming of Radio and Communication equipment is the responsibility of Umatilla County.

Financial Consultants International, Inc. 45727 S.E. 140th Street • North Bend, WA 98045 (425) 831-5203 • 1-800-758-0231 • Fax (425) 831-5206

Proposal for Vehicle Upfitting

Estimates are good for 120 days.

Changes from Scope of Work:

F350 – Slim-Miser only available in two colors.

Expedition – I was told that the Thunderstruck push bar is currently unavailable. I have included it in the bid in case things change and they will make it.

The Expedition does not come with the option to flash the headlights, taillights and backup lights.

Roll bar gun mount. It is recommended that it be installed vertically in the RP section of the screen. If it must be mounted horizontally on the roll bar that can be done. For the F350 it is recommended that is be mounted vertically on the SPT.

It will take 8-10 weeks to get all the equipment. It will take 5-6 business days to complete each vehicle. Ten weeks total for the install.

FCI has been building police vehicles for 50 years. Alan Bateman has been running the business since 1990. Mike Bateman has been the lead tech since 1994. Some of our oldest clients include Pasco PD and Snoqualmie PD which have been with us since 1992.

Total cost for the eight vehicles is \$235,554.00

Man Salemens

Thank you,

Alan Bateman

Umatilla County, Oregon

Request for Proposal for Vehicle Upfit & Installation of:

(4) Dodge Durango Pursuit Vehicles, (3) Ford Expedition SSV's & (1) Ford F-350

Vehicle Lighting Solutions, Inc. was established in 1996 and has shown continued growth and expansion as an industry leader in our market area over the past 29 years. VLS employs a team of 25 highly skilled technicians with multiple industry certifications across three separate locations and we take pride in providing not only the best installation service but customer service as well.

- All pricing included in the attached estimates from Vehicle Lighting Solutions are valid until Friday, September 12, 2025.
- Upon approval of the requested bid on May 22nd. VLS can start the installation process within 8-9 weeks, allowing the various vendors the standard 6-8 week lead time for product manufacturing and delivery with an estimated start date of July 28th 2025.
- Once the installation process begins, VLS will complete one vehicle a week for an estimated completion date of all eight vehicles by Sept. 19th, 2025.

Product Substitution:

- Thunderstruck Push Bumpers- The RFP has requested Thunderstruck Push bumpers for the Durango and Expedition builds. VLS was set up as a dealer for Thunderstruck and has since started a process to become a dealer. The dealer process has taken longer than expected and to not hold up the bid any longer I have included part numbers and pricing for a similar model Setina Manufacturing push bumper/ grill guard. Once I have current pricing from Thunderstruck, I can resubmit the bid with the product requested unless Umatilla County would like to keep the Setina model.
- Expedition prisoner transport with center pull seat belt system- Setina was mentioned in the RFP but they do not make a center pull seat belt system for the expedition so I have replaced that with the Troy Product equivalent.
- Troy Product Side Console Mount Laptop Mount-I have substituted this mount with the Havis Side Console mount to ensure the compatibility between the console and console mounted laptop mount.



Date	Quotation #
4/30/25	17715

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801

Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Terms	Rep	FOB	Vehicle Type
Net 30	ZBW	Destination	'25 Ford F-350

110000			Domination	`	25 1 014	1 550
Item		Description			Unit Price	Total
	*** 2025 Ford F-350	XL Slicktop Package	***			
12D	ION DUO Series in	Red/White Mounted in	ı Front Windshield	1	117.41	117.41T
I2E	ION DUO Series in	Blue/White Mounted i	n Front Windshield	1	117.41	117.41T
SFShroud	Ion Shroud Kit			2	49.85	99.70T
VLSGB3	Universal Mounting	Bracket		2	14.95	29.90T
TLI2J	ION T Series Super	LED Red/Blue Mounte	ed on Push Bumper	2	117.41	234.82T
12J	ION DUO Series Lit	near LED Blue/Red, M	ounted on Side of	2	121.54	243.08T
	Push Bumper for Int	ersection Lights				
INSTRUCTIONS	** FLASH VEHICL	E HEADLIGHTS USI	NG WHELEN		0.00	0.00T
	CORE SYSTEM **					
TLI2J	ION T Series Super	LED Red/Blue Mounte	ed Under Tail Gate	2	117.41	234.82T
INSTRUCTIONS	** FLASH VEHICL	E BRAKE LIGHTS U	SING WHELEN		0.00	0.00T
	CORE SYSTEM **		i			
12J	ION DUO Series Lir	ear LED Blue/Red, M	ounted in Rear Side	2	121.54	243.08T
	Windows		1			
TCRWX6-T	Whelen Tracer with	6 TRIO Modules in Re	d/Blue/White	2	1,281.48	2,562.96T
	Mounted for Runnin	g Board Lights				
C399	Whelen Core Amplif	ier System	1	1	832.49	832.49T
CCTL7	Control Head with 2	l Push Buttons and Sli	de Switch	4	279.07	1,116.28T
C399SP	SCAN port installation	on kit for C399 Univer	sal.	1	111.51	111.51T
CEM16	16 Output, 4 Input W	eCanX™ Expansion I	Module	2	172.28	344.56T
SA315P	SA315 Series Siren S	Speaker		1	243.08	243.08T
SAK1	Siren Speaker Mount	Siren Speaker Mounting Kit			31.27	31.27T
CHWLUNI	WecanX Howler Sire	WecanX Howler Siren Amplifier with One Speaker and			446.04	446.04T
	Mounting Bracket					
C-TMW-F150-03	Mounting base, Trak	Mounting base, Trak mount, 8' Wide, 28' Extrusion, With			142.35	142.35T
	vehicle mount, 2017-	vehicle mount, 2017-2023 Ford F-150-F-550 and Expedition				
C-3010-H	30" Enclosed console	30" Enclosed console, 10" High			395.20	395.20T

Total



Date	Quotation #
4/30/25	17715

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801

Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Terms Net 30		Rep	FOB		Vehicle Ty	уре
		ZBW Destination		n '25 Ford F-350		
ltem		Description		Qty	Unit Price	Total
Misc Sales		5-T91-1P: 1-Piece Equ		1	0.00	0.007
		ing Space, Fits Tait TN				
Misc Sales		5-T91-1P: 1-Piece Equ		1	0.00	0.00
		ing Space, Fits Tait TN				
EB40-CCS-1P		et (1 Piece) - mount for	r Whelen Cencom	1	0.00	0.007
	CCSRN, CCSRNTA					
EB40-WSB-1P	4" Equipment Brack	et (1-piece) - mount for	r Whelen Arges	1	0.00	T00.0
	Controller				1	
C-CUP2-1001	4" Self Adjusting Du	al Cupholder		1	45.50	45.50T
VLSLP3	2" Three Way Acces	sory Power Plate		1	17.52	17.521
ACC12V	12V Power Outlet			2	5.50	11.00T
11013	USB Power Outlet			1	15.75	15.75T
C-AP-0645-1	Console Accessory F	Console Accessory Pocket, Internal mount, 6" Mounting			48.75	48.75T
	space, 4.5" Deep					
EB25-MWG-1P	2.5" Equipment Brac	2.5" Equipment Bracket (1-piece) - mount for Motorola			0.00	0.00T
	Watchguard M500			1		
FP-05	0.5" Filler Plate			1	0.00	T00.0
VLSMCB	Mic Clip Bracket			3	11.95	35.85T
VLSMMC	Magnetic Mic Kit			3	36.95	110.85T
C-ARM-102	Molded rubber armre	est for side mounting w	rith adjustable	2	63.05	126.10T
	height.	•	·			
C-HDM-204	Heavy Duty 8.5" Cor	nputer Mounting Pole	for **CONSOLE	1	154.05	154.05T
	SIDE MOUNTING*					
C-MD-112		g Swing Arm with Mo	tion Adapter	1	246.35	246.35T
Misc Sales		Havis Model # DS-PAN-1501: Docking Station For Panasonic			759.20	759.20T
		aptop with Standard Po				
WeBoost 470254		WeBoost Drive Reach Fleet 4G Cellphone Booster			524.99	524.99T
75812		Stinger DS LED with DC Charger			149.95	149.95T
Misc Sales		74FDT17F250WOD:	#6VS SPT Coated	1	1,015.98	1,015.98T
	Poly Partition				*	
				Tota	r	

Total



Date	Quotation #
4/30/25	17715

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801

Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Terms Net 30		Rep	Rep FOB ZBW Destination		Vehicle Type		
		ZBW			1 '25 Ford F-350		
Item		Description		Qty	Unit Price	Total	
GK10271UHK		with Universal XL Lo	ock and Handcuff	1	327.18	327.187	
	Key Override						
Misc Sales	Hardware to Mount	Gunlock Horizontal O	verhead On Cage	1	50.00	50.007	
Freight Setina	Freight			,	175.00	175.001	
ARGES2	Arges Pro Focus Ren	note Snotlight		1	538.08	538,087	
ARGCH1	Arges Bail Mount Co			1	207.68	207.687	
ARG48D		2019-2022 Expedition	Driver Side	1	68.44	68,441	
AIRG TOD	Fender	2013-2022 Expedition	Direct blue		00.44	00,111	
M500		ystem without BodyCa	ım	1	0.00	0.00T	
Misc Sales		Model # 110000-01S		1	1,395.00	1,395.00T	
		ty Front Winch Ready		1	1,570.00	1,575.001	
		PS Shipping & Handling			350.00	350.00T	
		120: Warn XP 12-S W	'inch	1	2,370.99	2,370.99T	
1	Black Oak Model# 20C-D5OS: 20" Double Row Black			i	595.00	595.00T	
		W - Combo Beam Mo		- 370		5,5,002	
	Push Bumper						
		ng - Bracket Mount - 1	0W - Flood Beam	2	112.99	225.98T	
	Mounted at 45° Angl						
		2A-POD3OS: 2" Pod	Black Housing -	2	95.99	191.98T	
1	Bracket Mount - 3W	- Amber Flood Beam	Mounted to Push				
1	Bumper						
Misc Sales	Black Oak Model # 2	2F-FPOD10CR: 2" Po	d Black Housing -	2	131.99	263.98T	
		Flood Beam Mounted					
Customer Supplied	Customer Supplied T	ait TM9455 Radio	•	2	0.00	0.00T	
	17' Antenna Cable wi			2	27.95	55.90T	
MHB5800	/8 wave VHF mobile antenna. 144-174 MHz, 3dB gain, 200			1	36.95	36.95T	
	watt.						
MLPV700	Low profile antenna,	antenna, 740-870 Mhz, 3db gain.			36.95	36.95T	
	LEER Legend Bed Shell with Flip Up Side Windows			1	0.00	0.00T	

lotai



Date	Quotation #
4/30/25	17715

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801

Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Term	S	Rep	FOB		Vehicle	Туре
Net 30 ZBW Destination			Destination	on '25 Ford F-350		
Item		Description		Qty	Unit Price	Total
DeckedBox Misc Sales PDP-13*** CB-150 J Case Power Relay Mo VLSMCB Installation Supplies Shop Labor-C	F-350	Panel r Module.		1 1 1 1 1 1 1	1,599.99 1,499.99 239.00 25.95 37.73 11.95 335.00 0.00%	1,599.991 1,499.991 239.001 25.95T 37.73T 11.95T 335.00T 5,700.00T 0.00
Prices good for 3	0 days.			Tota	al	\$27,146.52



Date	Quotation #
4/30/25	17713

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801

Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Terms		Rep	FOB			Vehicle	Туре
Net 30		ZBW	Destination		'25 Ford Expedition		
ltem		Description		Qty	Un	it Price	Total
	*** 2025 Ford Exped	lition Patrol Package ((3 Vehicles) ***				
BB2DEDE	54" Lightbar in Red/.	Blue/White/Amber			1	2,055.00	2,055.00T
STPAJ98	Mounting Kit for For	d Expedition 2018-20	22		1	0.00	0.00.0
TLI2J I	ION T Series Super I	ED Red/Blue Mounte	ed on Push Bumper		2	121.54	243.08T
INSTRUCTIONS *	** FLASH VEHICL	E HEADLIGHTS USI	NG WHELEN 1			0.00	T00.0
	CORE SYSTEM **						
BS488	Whelen Model # BS4	88: Eight DUO™ Co	lor Linear		1	1,122.77	1,122.77T
	Super-LED® Traffic					,	,
	for Ford Expedition						
TLI2J I	ION T Series Super I	ED Red/Blue Mounte	ed Under Rear		2	121.54	243.08T
I	Hatch						i ii
INSTRUCTIONS *	** FLASH VEHICLI	BRAKE LIGHTS U	SING WHELEN		1	0.00	0.00T
	CORE SYSTEM **				1		
Misc Sales	Whelen Model # U180J: U-Series [™] 180 Degree Linear			2	2	182.31	364,62T
		Mount Mounted Und			1		
I N	Mirrors						
Misc Sales V	Whelen U18047: Und	ler-the-Side View Mir	ror Mount for Two		6	20.65	20.65T
Ţ	J-Series TM						
I	Lightheads, Sold Sep	arately, Pair				1	
		ear LED Blue/Red, Mo	ounted in Rear Side	2		121.54	243.08T
	Cargo Windows	· · · · · · · · · · · · · · · · · · ·		-	1	121.5	215.001
		TRIO Modules in Re-	d/Blue/White	2		1,281.48	2,562.96T
	Mounted for Running					1,201110	2,002.701
		Red/Blue License Plate	e Lights	2		93,22	186.44T
TIONMBK1 L	icense plate bracket			1		0.00	0.00T
	Whelen Core Amplifier System			1	1	832.49	832.49T
CCTL7 C	Control Head with 21	Push Buttons and Slice	de Switch	4		279.07	1,116.28T
							2,220.201
				То	tal		



Date	Quotation #
4/30/25	17713

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801

Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Terms		Rep FOB			Vehicle Type		
Net 30		ZBW	ZBW Destination		'25 Ford Expedition		
ltem	Description		Qty	Unit Price	Total		
C399K7	2020-2024 Ford Inte	50, 2022-2023 Ford Forceptor Utility, 2022-2 edition, 2024 Ford Ma	024 Ford Escape,	1	37.76	37.76T	
CEM16		eCanX™ Expansion		2	172.28	344.56T	
SA315P	SA315 Series Siren S	Speaker	and and	1	243.08	243.08T	
SAK73	Siren Speaker Mounting Kit for Ford F-150 PPV, 2021-2023, Ford F-150 with Eco-Boost, 2021-2023, Ford Expedition, 2022-			1	31.27	31.27T	
CHWLUNI	2024, Center Mount, for One or Two Speakers WecanX Howler Siren Amplifier with One Speaker and Mounting Bracket			1	446.04	446.04T	
C-TMW-F150-03	Mounting base, Trak mount, 8' Wide, 28' Extrusion, With vehicle mount, 2017-2023 Ford F-150-F-550 and Expedition			1	142.35	142.35T	
C-3010-H	30" Enclosed console, 10" High			1	395.20	395,20T	
Misc Sales	Havis Model # EB35-T91-1P: 1-Piece Equipment Mounting Bracket, 3.5" Mounting Space, Fits Tait TM9455			1	0.00	T00.0	
Misc Sales	Havis Model # EB35-T91-1P: 1-Piece Equipment Mounting Bracket, 3.5" Mounting Space, Fits Tait TM9455			1	0.00	0.00T	
EB40-CCS-1P	4" Equipment Bracket (1 Piece) - mount for Whelen Cencom CCSRN, CCSRNTA and MPC03		1	0.00	0.00T		
EB40-WSB-1P	Controller	t (1-piece) - mount for	Whelen Arges	1	0.00	0.00T	
C-CUP2-1001	4" Self Adjusting Dua	ıl Cupholder	1	1	45.50	45.50T	
VLSLP3	2" Three Way Access			1	17.52	17.52T	
ACC12V	12V Power Outlet			2	5.50	11.00T	
11013	USB Power Outlet			1	15.75	15.75T	
C-AP-0645-1	Console Accessory Pocket, Internal mount, 6" Mounting space, 4.5" Deep			1	48.75	48.75T	
EB25-MWG-1P	2.5" Equipment Brack Watchguard M500	tet (1-piece) - mount fo	or Motorola	1	0.00	0.00T	

Total



Date	Quotation #
4/30/25	17713

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801 Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Terms		Rep	FOB		Vehicle	Туре
Net 30		ZBW	Destination		'25 Ford Expedition	
ltem		Description	<i></i>	Qty	Unit Price	Total
FP-05	0.5" Filler Plate				0.00	0.00T
VLSMCB	Mic Clip Bracket			3	11.95	35.85T
VLSMMC	Magnetic Mic Kit			3	36.95	110.85T
C-ARM-102	Molded rubber armre height.	est for side mounting v	vith adjustable	2	63.05	126.10T
C-HDM-204	Heavy Duty 8.5" Cor SIDE MOUNTING*	mputer Mounting Pole *	for **CONSOLE	1	154.05	154.05T
C-MD-112	11" Slide Out Lockin	ng Swing Arm with Mo	otion Adapter	1	246,35	246.35T
UT-1001	Universal Rugged Cr		1	1	226.20	226.20T
WeBoost 470254		ch Fleet 4G Cellphone	Booster	1	524,99	524.99T
75812		ger DS LED with DC Charger			149.95	149.95T
Misc Sales	Troy Product Model	Troy Product Model # KIT-TP-SL6-18XO-SS: 2018+ Expedition Recessed Front Partition kit			1,011.20	1,011.20T
Misc Sales	Troy Product Model	Troy Product Model # WG-EXP18-SET: 2018+ Expedition Driver and Passenger Window Guards			280.00	280.00T
Misc Sales	Troy Product Model	Troy Product Model # DP-EXP18-SET: 2018+ Expedition Driver and Passenger Door Panels			289.60	289.60T
Misc Sales	Troy Product Model	Troy Product Model # PS-EXP18-OS-R: 2018+ Expedition Full Seat Replacment with Center Pull Seat Belts and Rear			2,024.00	2,024.00T
BK0534EPD18	Aluminum Push Bun	oper for 2018 Ford Exi	pedition.	1	458.38	458.38T
Misc Sales	Setina Model # HK22 , Steel	With PB9A Fender Wrap			761.78	761.78T
Freight Troy Products	Freight				400.00	400.00T
GK10271UHK		Single T-Rail Mount with Universal XL Lock and Handcuff			327.18	327.18T
Misc Sales		Gunlock Horizontal Ov	erhead On Cage	î	50:00	50.00T
	- k			Tot	-al	

Total



Date	Quotation #
4/30/25	17713

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801

Attn: Josh Roberts

josh.roberts@umatillacounty.gov

TermsRepFOBNet 30ZBWDestination		Rep	FOB		Vehicle	Туре
		n '25 Ford Expedition				
Item		Description		Qty	Unit Price	Total
ARGES2 ARGCH1 ARG48D Customer Supplied Customer Supplied MB8U MHB5800 MLPV700 Misc Sales Misc Sales Misc Sales Misc Sales Jcase Power Relay Mo VLSMCB Installation Supplies Shop Labor-C	Fender Customer Supplied I Cam Customer Supplied I 17' Antenna Cable w 5/8 wave VHF mobil watt. Low profile antenna, CargoRaxx Model # CargoRaxx Model #	ontrol Head 2019-2022 Expedition Motorola M500 Camer Tait TM9455 Radio ith NMO Mount le antenna. 144-174 M 740-870 Mhz, 3db ga S3E: Orginizer system Box-1: Optional Elect UWD-1: Optional Uti adding lanel r Module.	a System with Body Hz, 3dB gain, 200 in. ronics Box	1 1 1 2 2 1 1 1 1 1 1 1 1	538.08 207.68 68.44 0.00 27.95 36.95 36.95 587.99 747.99 728.99 75.00 239.00 25.95 37.73 11.95 335.00 0.00%	538.08T 207.68T 68.44T 0.00T 55.90T 36.95T 36.95T 587.99T 747.99T 728.99T 75.00T 239.00T 25.95T 37.73T 11.95T 335.00T 5,415.00T 0.00
Prices good for 3	0 days.			Tota	ı	\$27,094.31



Date	Quotation #
4/28/25	17709

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801 Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Terms Net 30		Rep	FOB		Vehicle Ty	/pe
		ZBW Destination		n '25 Dodge Durango		
Item		Description		Qty	Unit Price	Total
	*** 2025 Dodge Dur	ango Pursuit Patrol Pa	ackage (4 Vehicles)			
BB8DEDE		CX Lightbar with Re	d/Blue/White Front	1	1,895.00	1,895.007
STPKT#85	Mounting Kit for 20		1	1	55.00	55.007
TLI2J	ION T Series Super I	ED Red/Blue Mount	ed on Push Bumper	2	121.54	243.087
INSTRUCTIONS		E HEADLIGHTS USI	NG WHELEN		0.00	T00.0
BS44Z	Inner Edge RST Wee	CORE SYSTEM ** Inner Edge RST WecanX Rear Facing Warning Light with 10 Modules for Upper Rear of Durango 2016-2024 - Red/Amber,			1,271.45	1,271.45T
TL12J		ION T Series Super LED Red/Blue Mounted Under Rear			121.54	243.08T
INSTRUCTIONS		** FLASH VEHICLE BRAKE LIGHTS USING WHELEN			0.00	0.00T
Misc Sales	Whelen Model # U18 Super-LED® Surface Mirrors	Whelen Model # U180J: U-Series™ 180 Degree Linear Super-LED® Surface Mount Mounted Under Side View			182.31	364.62T
Misc Sales	Whelen U18044: NE Under-the-Side View	Whelen U18044: NEW Dodge Durango, 2013-2024, Under-the-Side View Mirror Mount for Two U-Series™			20.65	20.65T
[2J		Lightheads, Sold Separately, Pair ION DUO Series Linear LED Blue/Red, Mounted in Rear Side			121.54	243.08T
TCRWX6-T	Whelen Tracer with 6	Whelen Tracer with 6 TRIO Modules in Red/Blue/White Mounted for Running Board Lights			1,281.48	2,562.96T
TLM12J		Mini Ion T-Series in Red/Blue License Plate Lights			93.22	186.44T
TIONMBK1	License plate bracket	License plate bracket			0.00	0.00T
2399	Whelen Core Amplifie	Whelen Core Amplifier System			832.49	832.49T
CCTL7		Control Head with 21 Push Buttons and Slide Switch			279.07	1,116.28T
399K3	OBDII CanPort Installation Kit for Dodge Vehicles			1	37.76	37.76T

Total



Date	Quotation #
4/28/25	17709

Customer

VLSMCB

VLSMMC

C-ARM-102

C-HDM-204

C-MD-112 UT-1001

WeBoost 470254

Mic Clip Bracket

Magnetic Mic Kit

SIDE MOUNTING**

Universal Rugged Cradle

Molded rubber armrest for side mounting with adjustable

11" Slide Out Locking Swing Arm with Motion Adapter

WeBoost Drive Reach Fleet 4G Cellphone Booster

Heavy Duty 8.5" Computer Mounting Pole for **CONSOLE

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801

Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Te	Terms Rep FOB		FOB		Vehicle	Туре	
Net 30 ZBW		ZBW	Destination		'25 Dodge Durango		
Item		Description		Qty	Unit Price	Total	
CEM16	16 Output, 4 Input V	VeCanX™ Expansion	Module	2	172.28	344.56T	
SA315P	SA315 Series Siren			1	243.08	243.08T	
SAK54CM	Siren Speaker Moun	ting Kit for Dodge Du	rango, 2015-2023	1	31.27	31.27T	
CI III II II II	center mount, 1 or 2		0 1 1		116.01	446.047	
CHWLUNI	Mounting Bracket	VecanX Howler Siren Amplifier with One Speaker and			446.04	446.04T	
C-VS-2300-DUR		Console for 2021 Doc	ige Durango	1	391.95	391.95T	
11013	1 1	USB Power Outlet Mounted in Front of Console Next to 12v.			15.75	15.75T	
	Outlets						
Misc Sales		vis Model # EB35-T91-1P: 1-Piece Equipment Mounting		1	0.00	0.00T	
		ing Space, Fits Tait TM9455					
Misc Sales		avis Model # EB35-T91-1P: 1-Piece Equipment Mounting		1	0.00	0.00T	
EB40-CCS-1P		ing Space, Fits Tait TN		1	0.00	0.00Т	
ED40-CCS-II		4" Equipment Bracket (1 Piece) - mount for Whelen Cencom CCSRN, CCSRNTA and MPC03		1	0.00	0.001	
EB40-WSB-1P		nent Bracket (1-piece) - mount for Whelen Arges		1	0.00	T00.0	
	Controller						
C-CUP2-1001	4" Self Adjusting Du	al Cupholder		1	45.50	45.50T	
FP-15	1.5" Filler Plate	-		1	0.00	0.00T	
EB25-MWG-1P		ket (1-piece) - mount i	for Motorola	1	0.00	T00.0	
	Watchguard M500						

Total

1

3

11.95

36.95

63.05

154.05

246.35

226.20

524.99

35.85T

110.85T 126.10T

154.05T

246.35T

226.20T

524.99T



Date	Quotation #
4/28/25	17709

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801

Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Terms		Rep	FOB		Vehicle	Туре
Net 30		ZBW	Destination		'25 Dodge Durango	
ltem		Description		Qty	Unit Price	Total
75812	Stinger DS LED with			1	149.95	149.95T
PK1185DUR11		with Recessed Panel, I g Window with Slotted ango		1	868.38	868.38T
QK0566DUR11	Full Replacement Tr and Cargo Barrier w	Full Replacement Transport Seat with Center Pull Seat Belts and Cargo Barrier with Poly Stationary Window for 2023			1,352.18	1,352.18T
DK0100DUR11	Durango 2021 Durango door	nanel		- 1	269.78	269.78T
WK0514DUR11			ango	î	269.78	269.78T
GK10271UHK		Steel Window Barrier for 2024 Dodge Durango Single T-Rail Mount with Universal XL Lock and Handcuff			327.18	327.18T
Misc Sales		Hardware to Mount Gunlock Horizontal Overhead On Cage			50.00	50.00T
BK0534DUR21		PB400 VS Aluminum Push Bumper for '21-'23 Dodge			458.38	458.38T
HK2272DUR21		t Guard and Pit Bar fo	r 21+ Durango	1	761.78	761,78T
Freight Setina	Freight	PB10 Steel Headlight Guard and Pit Bar for 21+ Durango			250.00	250.00T
ARGES2		Arges Pro Focus Remote Spotlight			538.08	538.08T
ARGCH1	Arges Bail Mount Co			1	207.68	207.68T
ARG44AD		nder Mounting Kit for	2015-2023	1	68.44	68.44T
Customer Supplied		1otorola M500 Camera	a and Body Cam	1	0.00	T00.0
Customer Supplied	Customer Supplied T		,	2	0.00	0.00T
MB8U	17' Antenna Cable w			2	27.95	55.90T
MHB5800	5/8 wave VHF mobil watt.	5/8 wave VHF mobile antenna. 144-174 MHz, 3dB gain, 200			36.95	36.95T
MLPV700		Low profile antenna, 740-870 Mhz, 3db gain.			36.95	36.95T
Misc Sales		CargoRaxx Model # S4D: Orginizer system			587.99	587.99T
Misc Sales		Box-1: Optional Electr		1	747.99	747.99T
				Tot	\	

Total



Date	Quotation #
4/28/25	17709

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801

Attn: Josh Roberts

josh.roberts@umatillacounty.gov

Terms Net 30		Rep	FOB Destination		Vehicle Type '25 Dodge Durango	
		ZBW				
Item		Description		Qty	Unit Price	Total
Shipping/Handling PDP-13*** CB-150 J Case Power Relay Mo VLSMCB Installation Supplies Shop Labor-C	CargoRaxx Model # Drawer UPS Shipping & Hat Power Distribution F 150A Circuit Breake J Case Power Relay f Mounting Bracket Installation Hardwar Shop Labor Sales Tax Exempt	r r Module.	ility/Weapons	1 1 1 1 1 1 1	728.99 75.00 239.00 25.95 37.73 11.95 335.00 0.00%	728.99 75.00 239.00 25.95 37.73 11.95 335.00 5,415.00 0.00
Prices good for 30 days.				Tot	al	\$25,920.4